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4 Not ta scale

Cdlculate the value of x,

giving a reason for your answer, *
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d4)

CX is tangent fo the circle centre O._ Lot £LCAB= .

Aid..Eind.with reasops £ COBdn terms of e,

i}) Find with reasons £ OCB in terms of a.

ivj Hence shm?i;' that ATBC,KE .::'BAC

B AHGS‘J'A!
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(a)

C |
In the diagram A, B, C and D are points on a circle with centre O. A’BAD =x" and

LBOD=/BCD.

(ify  Find the value of x giving reasons.
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(b} Inthe diagram below, AB is a diameter of a circle, whose centre is the point (.

The chord XY passes through M, the mid-point of OB. AX and BY are joined.

X
(i) Prove the two triangles formed (triangles AXM and MYB) are similar. 4
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(iii) If XM = 8em and YM = 6em, find the Tength of the radius of the cirgz}e. -3
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(b)

In the_ dia,gfam above, two circles touch one another externally at the point A,
A at;ralgig, line through A4 meets one of the circles at T and the other at &, The
tangants at T" and 5 meet the common tangent at A st X and ¥V respectively.

Let 8 = {XTA. .
(1) Explain why ZX AT is 6. - =

(i) Prove that TX || ¥S. ' - @
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()

Diagram not o scale - 4

AD and CD are tangents to g circle.
B is a point on the circle such that
ZCBA and £CDA are equal and are
0y _

bothi double £BCA. Prove that B4

i3 a dimmeter of the circle,
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SOLUTIONS
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1) 8><(x+8)=9)<16 [ Product of intersecting secants |
Bx+64=144 =  x=10. ‘

CARINGBAH 2004 Q3

d)

i) ZCOB =2a ( £ atcentre=twice £ at
circumference )

i) £ OCB=90-a (base £'sofisos A=
and £ sumof A)

fii} £ RCX = £ OCX — LOCR
= 90~(90~e) (it. £, tangent L
to radins )
=
= LBAC,
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